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1. AUYY (Cantilever beam) AB  Tusanszidananslugy (1)
(@) IhAisufsveausuilou (shear force diagram) uazAIvalaunaAa (bending
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2. AUBY (Cantilever beam) AC Tusinssidaanalugl @ fwdidasnaiiuianay
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4. A solid steel rod of a diameter ¢ s supported as shown. Knowing that for the steel has density =
7860 kg/m? . determine the smallest diameter o that can be used if the normal stress due o bending
15 not exceed 28 MPa.
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5. A beam is loaded and supported as shown. Determine the reactions at the supports A and B.
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0. A 150-mm-diameter shaft will be used to support the axial load. the torsional loads. and the shear
load shown in Figure. Determine the principal stresses and the maximum shearing stress at point A
on the top surface of the shaft.

56 kN'm 150 mm
4.4 14 kN'm




